Tableaux des Puissances de Dix (C)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (C) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 10 000 100 1000 0,1
8,64 86 400 864 8 640 0,864
3,25 32500 325 3250 0,325
5,52 55200 552 5520 0,552
1,57 15700 157 1570 0,157
2,15 21500 215 2150 0,215

X 0,0001 0,01 1 000 10
5,1 0,00051 0,051 5100 51
6,79 0,000679 0,0679 6790 67,9

1,3 0,00013 0,013 1300 13
4,64 0,000464 0,0464 4 640 46,4
7,55 0,000755 0,0755 7 550 75,5

+ 0,001 0,01 0,1 10 000
2,79 2790 279 27,9 0,000279
5,02 5020 502 50,2 0,000502
3,15 3150 315 31,5 0,000315
9,94 9940 994 99,4 0,000994
4,1 4100 410 41 0,00041

+ 0,1 100 0,001 0,0001
9,79 97,9 0,0979 9790 97 900

2 20 0,02 2000 20 000

5,7 57 0,057 5700 57 000

3,5 35 0,035 3500 35000
8,06 80,6 0,0806 8 060 80 600
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